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= 1,308
Al 1,309
oMNBIEER 1,706,000 14] 1,707
= 854
Al 853
201 Let=23 | 1,350 1,350
01 At2teltl 1,350 1,350
Odgt+==H| 1,350
ogHl Bk BE & 28 225 7
50,000& 205 1,000
oflH F= HIXH MY EE cIER
NN 350& *1,0000H 350
206 MH=Hl 4,392 5,204 AB12
= 2,19%6
Al 2,1%
01 M=4l 4,392 5,204 AB12
i =3 5|E 7Y
1,700,000 24! 3,400
= 1,700
Al 1,700
O2k d& 24 58 Nz 7Y
49,6003 x205 992
= 4%
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FA: DiHsS
B =0)|2 PR (SHNLSM/SY - SE)
o9l S2a2 ASs JlaPa ¥ PENY Ny COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oSE&= MilVls us Its M
10,0002 100 1,000
SSEX2 ADIZ AZAEE 2% 403
- 20,0008 10553 1,000
202 04| 1,530 2,295 AT65
01 =LHOLI 1,530 2,29 AT65
OXNSEd Hg SSA= Y= U S
G1:] 85,0002 x3& 32 +22] 1,530
206 M=l 3,000 3,000
01 MZH| 3,000 3,000
OSEs&E M= &4SAER 28 M=l
100,000 x105+32] 3,000
AH=E 48 & 45 A8 &4 21,000 0 21,000
402 2I2F X201 & 21,000 0 21,000
01 SIIXHZ AN X (R THE) 21,000 0 21,000
OSNES M2t U AZs} AIEHX £4
30,000,000 *1IH 2=x70f% 21,000
JI=HsES 20 A Il AlE 14,000 0 14,000
402 QI”F X201 & 14,000 0 14,000
01 QI X2 AL E R (KEMITHE) 14,000 0 14,000
OJl=dzils QU ddit Jls AlY
20,000,000 17 2=%70f% 14,000
AL =29 56,417 56,163 254
101 21A4H| 29,209 32,345 A3,136
04 JIZtN2 2N S 2+ 29,209 32,345 A3,136
OXNHHAR S424 22| IR 29,209
Q2 76,9603 x 1 H 5L x52%= 20,010
oFFd 76,9602 * 1 +525= 4,002
oMBAD BELY
6,080 1H+6& +525= 1,897
oARIEE = 3,300,000 *14] 3,300
201 2= 18,208 10,618 7,590
01 AlR221H| 9,990 2,400 7,590
SHEER=1] 9,99
SEAWYM U AT 29 A28 7Y
10,0002 x305+83] 2,400
oXAEHA Ol & HIIZ Xcld|
7,590,000 * 14 7,590
02 35244l 8,218 8,218 0
OdZH| 6,218
oXMHHAE SA24 Y|
1,435&*4,3332| & 6,218
OAIE2 &= X 2,000
oXAHAE SA2E JIHEH =
200,000 x65+23] 2,000




FA: DiHsS
B =0)|2 PR (SHNLSM/SY - SE)
o9l S2a2 ASs JlaPa ¥ PENY Ny COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 9,000 13,200 24,200
01 MHZH| 9,000 13,200 A4,200
OZHYA 2% H2H|
30,0002 x155+53] 2,250
OXAHER sA424d 28 M=4|
30,0003 * 15552 2,250
OFER 44 M=
300,000& x55+32 4,500
S AFHYE 25 38,638 57,047 18,409
101 @124H| 13,538 25,597 212,059
MU IIRIMZZENSES 13,538 25,597 12,059
Os®HIIE o33t 13,538
o2y 76,9602 x2H 52U x 125= 9,236
oFgay 76,9603 x2& *125= 1,848
oMBD PAELL
6,080 x2H+ 6L * 125 876
cARIEE = 1,578,000& %14 1,578
201 fet= 3| 4,100 10,450 6,350
01 AtR2te|HI 2,600 4,400 1,800
Oget+=EHI 2,600
oZMIIBAE NEMMH AXNSEZ
300, 0003 *321 900
oSUDIS AYE 29 A2E Y
100,000& %105 1,000
oSMEX =0 EL(FEX, &)
350,000 25 700
2 S524g4l 1,500 6,050 A4,550
O=32= £ HAl 500
oZHIIS AHEE EHOA MUY =
500,000& 14 500
OAIE2 &= X 1,000
oZMIIS AHEE JIAHEEl =
250,000 x2E5+23] 1,000
206 MH=HI 21,000 21,000
01 MZH| 21,000 21,000
ON+=SHEE AZ(SHSA) M=l
7,00021+3,000kg 21,000
HA tgdL D23 40,871 44,007 A3,136
101 @12A4H| 29,209 32,345 N3,136
04 JIZtNZ22 XS 2+ 29,209 32,345 A3,136
OHATHH NS E 2| Jlz=l 2 29,209
Q12 76,9603 x 1 H 52 x52%= 20,010
oFxFd 76,9608 » 1 »525= 4,002
cdas 2dE
6,080 1H+6& x52== 1,897
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FA: DiHsS
B =0)|2 PR (SHNLSM/SY - SE)
Ciel: SBRZ2 ASS J|2E3 Y RENY Y (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oZg 48 - 7 22R2(FI, T,
tA, 84 S) 3,000,000 *14] 3,000
OAIE2 &= X 4,000
oAME=E A7R =8 & FX2e
4,000,000 * 14 4,000
03 #AL2 | 10,000 0 10,000
OF8t ag - A7E HAA
10,000,000 » 14 10,000
405 KHaHF S| 250,000 250,000
01 ML ESFSHI 250,000 250,000
OZ8t 48 17 ME0 L I 22
200,000,000 *14] 200,000
OAR4A ¥ SEN0ILIA RS2 7Y
20,000,000 *14{ 20,000
O=Z2AM0ILa nEs JIAHM 2
30,000,000& * 14 30,000
AH2SZHI(0IH=L ) (DIEHIIE 122,303 115,413 6,890
elgE3 40,569 38, 146 2,423
elIg =3 40,569 38, 146 2,423
101 @124H| 40,569 38, 146 2,423
03 SR (RIHA) 222+ 40,569 38,146 2,423
OAlIRAZ 25 40,569
oIRAT
12,9353 +5H+20A| 2H+ 12 x150% 23,283
o<LBHT
16,0053 *3Z 20 A1 2t 12 *150% 17,286
Jl=3H 81,734 77,267 4,467
Jl=2&H] 81,734 77,267 4,467
201 el 29,347 30,569 N1,222
01 At2t2ltl 23,513 24,492 A979
Ogit=ZH| SUA
9,802,000 %14 9,802
OSgHl S9AHd 13,711,0003 % 14] 13,711
02 S3=gHl 5,834 6,077 N243
O=32= € HMAl SHA
1,257,000& *14] 1,257
OAIZZHHISXIH SHA &
705,000 *14] 705
OXte - &8 SHAH2
3,872,000& 14| 3,872
202 04| 48,187 42,498 5,689
01 =LHOHI 12,187 12,695 A508
SEM2E SHA 7,587,000+ 14 7,587
O3RH(ais tZx 2¢) YRFX ol
20,0003+ 1H*102+53 1,000




D Dichs
D HESGAH|(0lH=S ) (DIEHDIIE

D o2&l M)
SA - BH - () - NSAY - BAS ofl v A 2
Oz=ox(zednd 2a) a2=a o
20,0002 x3Z 10 x62 3,600
02 XML 36,000 29,803 6,197
OYSIENE B
200,000& x15F =123 36,000
203 LR =&H| 4,200 4,200
M 2GRS 4,200 4,200
O0li=g (A 259)
350,000& 123 4,200




